HELICOPTER LANDING ZONE STUDY GUIDE

1. Consideration Factors:

a. Tactical Considerations

b. Technical Considerations

2. Tactical considerations are the responsibility of whom?

a. The Ground Unit Commander (GUC)

3. The GUC uses _______ to estimate the tactical situation?

a. METT-TC

4. The technical considerations that pertain to the technical aspect of selection and operation of a day or night HLS are the responsibility of whom?
a. The Pathfinder
5. What are the technical consideration selection factors?
a. Size of HLP/TDP

b. Landing formations

c. Surface conditions

d. Obstacles

e. Approach and departure routes

f. Atmospheric conditions

g. Type of load

6. NOTE: No one selection factor takes precedence over the other.  All are weighed equally.

7. What are the four factor in considering a TDP:

a. Size/type of aircraft

b. Pilot/unit proficiency

c. Day or Night operations

d. Atmospheric conditions

8. How many size TDPs are there?

a. 7

9. What are the first five sizes of helicopter landing points and what helicopters are they associated with?

a. Size 1 TDP – 25m in Diameter (all observation helicopters)

i. OH-58

ii. OH-6

b. Size 2 – 35m in Diameter (small utility, small attack helicopters)

i. AH-1

ii. UH-1

c. Size 3 – 50m in Diameter (large utility, large attack helicopters)

i. UH-60

ii. AH-64

d. Size 4 – 80m in Diameter (all cargo helicopters)

i. Ch-46/47

e. Size 5 – 100m in Diameter (all sling load bearing helicopters)
10. What are the nine standard aircraft formations:

a. Trail

b. Staggered Left

c. Staggered Right

d. Echelon Left

e. Echelon Right

f. Heavy Left

g. Heavy Right

h. Diamond

i. Vee

11. What is the distance between helicopters flying in formation:

a. 1 TDP Size (depending upon the type of aircraft in formation)
b. Echelon L/R formations – the distance between the #1 and #3 A/C is 2 x TDP sizes

12. Where is the #2 A/C located in a staggered trail left (STL) formation?

a. 45 degrees to the left of the lead A/C 

13. What is the most secure flying formation?

a. Diamond

14. Which four flying formations are measured 1 ½ TDPs from the SP of your HLS on the Formation Matrix?

a. Diamond

b. Vee

c. Heavy Left

d. Heavy Right

15. Surface conditions at the site must be:

a. Firm enough to support the weight of the A/C

b. Free of loose sand, snow, or debris (brown-out/white-out conditions)

16. Obstacles on an HLZ are anything that _____________
a. Is 18 inches high, wide, or deep

b. NOTE: the obstacle can be any of the 3; it does not have to be all 3.

17. What are the 4 R’s of Obstacles:

a. Remove

b. Reduce

c. Red (mark in Red)

d. Radio (advise pilot)

18. Ground slope can be considered an obstacle when:

a. Slope Exceeds 7 Degrees:

i. Observation and small utility helicopters will not be allowed to land

ii. Large utility and cargo aircraft will be issued an advisory

b. Slope Exceeds 15 Degrees

i. No A/C will be permitted to land

19. Small Cargo and Utility helicopters are:

a. OH-6

b. OH-58

c. UH-1

20. Always attempt to land an aircraft _______ or _________

a. Up-slope (preferable)

b. Side-slope

21. Never land an aircraft __________ if at all possible!

a. Down-slope

22. The ground slope formula only works accurately up to

a. 20 degrees

23. What is the ground slope formula

a. Slope Angle = VD x 57.3
      HD
24. When you calculate the final answer of the ground slope formula, always:

a. Round the answer up to the next whole number

25. Approach and departure routes are ideally made

a. Along the long axis of the HLS

b. Over the lowest obstacle (10:1 rule)
c. Into the wind

26. 10:1 rule can be reduced to ___ depending upon ________ or ________ of the load.

a. 5:1

b. Insertion

c. extraction

27. The departure heading of a helicopter can vary up to __________

a. 45 degrees either side of the land heading

28. Always attempt to land the A/C into a __________

a. Head wind

29. Aircraft will not be allowed to land in a crosswind exceeding _________

a. 9 knots

30. A/C will not be allowed to land in a tailwind exceeding __________

a. 5 knots

31. _________ affects the A/C ACL for any given situation:

a. Density altitude

32. Density altitude (atmospheric condition) is comprised of three factors:

a. Humidity

b. Altitude above Sea Level

c. Temperature

33. As any of these three factors increase, the ________ of the A/C decreases and the ________ is greatly reduced:

a. Performance Capabilities

b. ACL

34. What are the two types of loads:

a. Equipment or personnel

b. Internal or external

35. NOTE: There are many types and combinations of loads.  The most important thing the Pathfinder on the site needs to know is whether the operation is

a. Insertion or Extraction

36. Pathfinder teams are organized into to parties:

a. Recon Party

b. Marking Party

37. Recon Party consists of 

a. TL

b. TL RTO

c. GTA

d. #1 TDP Signalman

e. SL Point TL

f. Additional Pathfinder

38. Marking Party Consists of

a. ATL

b. INR

c. SL Point Signalman

d. Hookup Man

e. Static Probe Man

f. Additional Pathfinder

39. Determine the land heading at the HLS in the following priorities:
a. Long axis of the site

b. Wind direction and speed

c. Slope at the site

40. GTA is placed according to the following considerations:

a. Good 360 degree observation of the site

b. Not placed inside a cleared area

c. Opposite CCP

41. When the GTA is emplace, the site can:

a. Accept one A/C at a hover

42. When emplacing the INR ensure:

a. The same considerations are used as the GTA’s emplacement
b. INR can cover the GTA’s dead space

c. The INR, GTA, and any other radios are at least 25m apart

43. Who supervises the designation and marking of the TDPs:

a. ATL

44. What is the order in which the TDPs are marked:

a. First to last

45. As members of the marking party clear the TDPs, the GTA and INR update _______ as each point is cleared

a. ATC block of their maps

46. Who determines the unusable space at the approach end of the site:

a. Sling Load point team leader

47. Who selects the tentative location of the sling load point if it is not dictated by the unit OPORD:

a. Sling load point team leader

48. What are the criteria the SL point TL uses to select a SL point:

a. SL point at least 100m from nearest active TDP in formation for unlike or unknown A/C types
b. SL point at least 80m from nearest active TDP in formation if all A/C are alike

49. The diameter of SL point is determined by 4 factors:
i. Size of A/C

ii. Pilot/unit proficiency

iii. Day or Night Op

iv. Atmospheric conditions

50. 10 minutes prior to mission type, what will be accomplished:

a. All radios set to primary frequency

b. All personnel in proper uniform and position to perform their respective duties.

c. All signalmen in their proper location ready to guide A/C

d. ATC blocks of GTA and INR maps are complete, accurate, and alike

e. All signaling devices are out and ready

f. Site is operational for daytime operations

51. NOTE: The pilot will always drop load 20m to the RIGHT of the A/C because that is the side the pilot sits on.

52. There are two methods of marking the HLS for night operations at the #1 TDP:

a. Inverted “Y”

b. NATO “T”

53. The inverted “Y” for cargo A/C will have

a. 5 lights

54. How many lights does a NATO “T” have?

a. 4 lights

55. How many lights does an inverted “Y” have for light observation helicopters

a. 4 lights

56. How is the location of the 5th light for the inverted “Y” determined:

a. Through prior coordination with the supporting aviation unit

57. The NATO “T” will be utilized if:

a. A/C approach the site from 500 feet AGL

b. It is coordinated for

58. A minimum of ______ will be added to he entire length of the HLS when using the NATO “T”:

a. 20m

59. What is the size requirement for an HLS with five UH-60s landing in trail formation using a NATO T:

a. 220m

60. The distance and azimuth to TDP 2 from TDP 1 when using the NATO “T” is taken from:

a. The Stem Light

61. How many lights does a TDP for Non-cargo, utility, and attack A/C possess and how many meters apart are they?

a. 2 lights, 5 meters

62. When marking TDPs, what color lights should you not use:

a. Blue

b. Green

c. Red

63. How many lights does a TDP for a SL A/C no landing have and what is the distance between the TDP and the uppermost light?

a. 5 lights, 30 meters

64. How many lights does a TDP for a SL A/C landing have?

a. 5 lights

65. What is the distance between the two lights marking the TDP for the A/C to land on a SL A/C TDP?

a. 10 meters

66. How many lights does a TDP for Cargo and unknown A/C possess and how many meters apart are they?

a. 2 lights, 10 meters

67. What is the distance from the TDP to the center point between the two lights on a non-cargo A/C TDP?

a. 5 meters

68. What is the distance from the TDP to the center point between the two lights of an unknown A/C TDP

a. 10 meters

69. The center of TDP 1, when using a NATO “T,” is located at the 

a. Base Light
70. NATO “T” – TDP 1 
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71. INVERTED “Y” – TDP 1
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72. TDP lights
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73. SLP landing lights and load reference lights:
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74. Obstacle lights emplaced (steady red)

a. Mark in 4 cardinal directions around obstacle (ex. Swamp)

b. Mark linear obstacles down the obstacle

75. Prepare troops and their equipment for air movement: (BUTWAIT)

a. Bipods collapsed or removed

b. Utilize eye protection

c. Tie down loose equipment

d. Weapons on safe, no rounds are chambered

e. Antennas removed or depressed

f. ID tags worn, ID card carried

g. Tighten chinstrap

76. Methods used to approach Army A/C:

a. Occupy and secure the PZ position and ready personnel and equipment for loading

b. Move towards the A/C only after it has landed

c. Approach the A/C at a crouch (be aware of antennas)

d. Approach the A/C from the down slope side

77. Approach the UH-1H

a. From 45 degrees off the front of the A/C

78. Approach the UH-60 

a. At a 90 degree angle, directly from the sides

b. Same approach as OH-58/OH-6 when using forward troop doors

79. Approach the CH-47/46 when using the rear ramp:

a. From 45 degrees off the rear of the A/C

80. Approach the CH-53/54

a. 45 degrees from ONLY the right rear of the A/C to avoid the tail rotor

81. Never approach ________ or ___________ from the rear due to the tail rotor hazard:

a. Utility or light observation helicopters

82. Loading A/C and Actions while in Flight:

a. Load in reverse order: first in, last out

b. Secure all loose items and cargo lashings

c. DO NOT place equipment under troop seats

d. All seat belts will be fastened and remain fastened during the flight

e. All troops will remain seated during the flight

f. No smoking

g. Individual weapons will not be fired from an A/C at any time

h. Individual weapons will be oriented as indicated

i. UH-1H – muzzle up

ii. UH-60, OH-58, CH-47 – Muzzle down

83. A/C Off-Loading Procedures:

a. Do not off-load prior to being instructed to do so by the aircrew

b. Stay clear of the rear of observation and utility type helicopters

c. Exit on the down slope side

d. Take 2 to 3 steps and assume a prone position facing away from the A/C

84. On a UH-60, Fire extinguishers on the A/C are for whom:

a. For Personnel Only

85. UH-60 Impact Capacity

a. Struts – 13 Gs

b. Seats – 10 Gs

86. What is the proper Crash Position for a Soldier in a UH-60?
a. Sit Upright

b. Muzzle Down

c. Seatbelts worn low and centered

87. What type and how many emergency items/exits are located on a UH-60L:

a. Emergency Exits: 6

b. First Aid Kits: 3

c. Fire Extinguishers: 2

88. What type and how many emergency items/exits are located on a CH-47:

a. Emergency Exits: 10

b. First Aid – 7

c. Fire Extinguisher – 3

89. Emergency Landing Procedures:

a. Bend forward and place your head down, ensure feet are not under seat

b. Do not leave A/C until the main rotor has stopped turning (if fire is occurring, use common sense to determine when to leave)

c. Remove first aid kits and fire extinguishers as necessary

d. Assemble at pre-designated point and gain accountability of individuals

e. A/C troop commander will ensure all personnel are out of the A/C prior to leaving

A/C


Land Here





    10m 





     10m 





10m





10m





Base Light





Stem Light





Center of TDP





Center of TDP





14m





14m





10m





5th light (when coordinated for Cargo A/C)





7m





5th light (when coordinated for Cargo A/C)





7m





5m





5m





Center of TDP





5m





5m





10m





Center of TDP





Non-Cargo A/C


Utility & Attack A/C





Cargo A/C


Unknown A/C





10m





10m





25m





5m





5m





5m





10m





10m





10m





25m





5m





5m





5m





When SL A/C is Not Landing





When SL A/C is to Land








